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I. PRONUNCIATION

Mark the letter A, B, C, or D on your answer sheet to indicate the word whose underlined part differs
from the other three in pronunciation in each of the following sentences.

1. A. companion B. comparison C. company D. command

2. A. ecologist B. investigator C. agency D. meningitis

Mark the letter A, B, C, or D on your answer sheet to indicate the word that differs from the other

three in the position of primary stress in each of the following sentences.

3. A. immigrant B. visitor C. monument D. commuter
4, A. access B. process C. success D. progress
1. VOCBAULARY & GRAMMAR

Mark the letter A, B, C, or D on your answer sheet to indicate the correct answer to each of the
following questions.

5. Visitors are obliged to take off their shoes before entering the

A. tower B. stadium C. pedicab D. temple

6. All passports at the immigration desk.

A. need to show B. have shown C. must be shown D. has to be shown

7. The box was full of letters to him by his ex-girlfriend.

A. were sent B. which sent C. sent D. having sent

8. Was he the man who to stay alive in the collapsed building?

A. risked B. managed C. afforded D. avoided

9. Rachel Carson became famous __ her books on environmental pollution and the natural history of the
sea.

A. about B. as C. for D. with

10. of the change in meeting time, George arrived late.

A. Having not been notified B. Not having been notified

C. To have not been notified D. Not to have been notified

11. He monitors __ he eats and drinks and how long he sleeps.

A. that B. what C. why D. while

12. Hundreds of people follow their satnavs without thinkingand __ at the wrong destination.
A. break up B. end up C. putup D. set up

13. Let’s rent a(n) villa so we can have our own BBQ party.

A. full board B. self- absorbed C. self-catering D. full-time
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Mark the letter A, B, or Don your answer sheet to indicate the sentence that best completes each of
the following exchanges.

14. Peter: Would you mind if | turned on the fan? - Helen:
A. No idea. B. It’s my pleasure. C. Go ahead. D. You wouldn’t.

15. Peter: Hey, John, long time no see! - Lily:
A. 1 know your sister. B. No regrets.
C. How dare you! D. Sorry but I think you've mistaken me for someone else.

1. WRITING

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that is CLOSEST in
meaning to each of the following questions.

16. I didn’t call him because it was so late then.

A. It was so late then that I realized I didn’t feel like calling him.

B. If only I could call him even though it was rather late.

C. The later it got, the less | wanted to call him.

D. If it hadn’t been so late, I would have called him.

17. She was persuaded into trying the new restaurant by her friends.

A. She wouldn't have dined at the new restaurant without persuasion from her friends.

B. Her friends failed to have her at the new restaurant.

C. Initially, she had a desire to visit the new restaurant.

D. She felt obliged to dine at the new restaurant independently.

18. My friend bought her car from her neighbor.

A. It was my friend buying her car from her neighbor.

B. It was her neighbor that my friend bought her car from.

C. It was the car that my friend’s neighbor sold.

D. What my friend bought was her car.

Mark the letter A, B, C, or D on your answer sheet to indicate the sentence that best combines each
pair of sentences in the following questions.

19. Travelling from one city to another will not take much time. This happens because of air taxis.
A. Air taxis will raise concerns about the time travelling between different cities.

B. Despite air taxis, commuting between two cities will last as long as it used to be.

C. Thanks to air taxis, travelling from one city to another will not be time-consuming anymore.

D. Air taxis allows people to travel between cities much faster than usual.

20. The company aims to expand its product line. Currently, they are researching new manufacturing
methods.

A. Researching new manufacturing methods isn't a priority for the company's product line expansion.
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methods.
C. As new manufacturing methods are being researched, its product line expansion is also a focus.
D. Expanding the product line is a priority, but researching new manufacturing methods is not.
Read the following passage and mark the letter A, B, C, or D on your answer sheet to indicate the
correct answer to each of the questions.
Car-free commutes can be rewarding and vary depending on individual circumstances. One of the most
popular options for many commuters is biking. It’s a great form of exercise and usually requires less
maintenance than a private car. If you are new to this kind of transport, take some time to map out your route
first and remember to take advantage of bike lanes.
Another thing you should keep in mind is safety. You’re responsible for obeying major traffic signals just as
you would be while driving. Install tail lights on your bike and wear reflective gear if you are riding at night
or early in the morning. Of course, never forget your helmet!
Some bike commuters even pack clothes to change into when they arrive at work in case they get sweaty. This
healthy means of transport is also well-supported by many companies around the world. Some offer quite a
range of benefits to those who cycle to work such as bicycle parking and cash incentives to commute-related
expense reimbursement.
21. What is the author’s main purpose of the text?
A. to teach people how to ride a bicycle
B. to persuade people to give up their own cars
C. to warn cyclists about riding in different lanes
D. to encourage people to take up biking
22. The word ‘some’ in the 2nd paragraph most likely refers to
A. companies supporting biking B. bike commuters
C. clothes D. countries
23. What should you do to stay safe when cycling?
A. never cycle without your helmet B. always wear reflective gear
C. bring extra clothes to the office D. have the bike checked at the garage every month

24. According to the writer,

A. the more you cycle, the less exercise you need to do

B. only a few countries in the world allow people to cycle to work

C. maintaining a bike is more costly than a car

D. each individual has their own choice of alternative transport

25. Which of the following best describes the passage?

A. imaginative B. persuasive C. critical D. sarcastic
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correct word or phrase that best fits each of the numbered blanks.

The advances that Albert Einstein, the greatest scientist since Newton, (26) in science are beyond

measure. Einstein’s theory of relativity still reigns as one of the most influential (27) in history. As

the developer of the most famous equation in history — E = mc2 — he, quite rightly, earned a Nobel Prize (28)
Physics in 1921 and published more than 300 papers during his lifetime, making his name

synonymous with the term ‘genius’. Not (29) was he a formidable scientist, he was also an active

voice for human rights, (30) for a more peaceful world and ardently denouncing the creation of

atomic bombs.

26. A. did B. made C. took D. set

27. A. breakdowns  B. breakups C. breakthroughs D. breakouts
28. A.in B. on C. about D. of

29. A. until B. before C. only D. much

30. A. campaign B. to campaign C. being campaigned D. campaigning
V. LISTENING

Listen and mark the statements about the past true (T) or false (F).
31. Families used to spend more time with each other.

32. People were busier and more stressed.

33. Life was much safer.

34. People never used to lock their doors.

35. It was much quieter.

36. There was a lot of traffic.

37. People used to grow their own fruit and vegetables.

38. People used to go to the theatre.

39. People used to spend their time doing more interesting things.
40. People watched a lot of TV then.
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